

## BUSSINESS PROPOSAL

www.satyainfotech.in Hello-+918757734024 www.satyainfotech.in Hello-+918757734024



# ABOUT OUR PROJECT



### **Project period:**

06 Jan - 08 Nov 2024

A business project is a temporary undertaking within a company's business strategy that aims to achieve a business objective. Projects can be internal, external, administrative, or functional.

You can Join our "NEW ENTERPRENURE PLAN" of Company and achieve your goal in life .SHANMATI PVT.LTD .gives you chance to Open your own Computer Institute from home with @1.35 lac Only.



### BUDGET ESTIMATE

We providing "New Entrepreneur" plan of the company **SHANMATI PVT.LTD** in which you can get maximum subsidy by company below estimate of computer centre with infrastructure but we provide in @1.35 lakh only.

No	Material	Qty	Price	Total
1	Writting Chair	10	1200	12000
2	ComputerTable	10	2500	25000
3	CPU "I3"	10	12700	127000
4	MONITOR "19 inch"	10	4200	42000
5	KEYBOARD	10	400	4000
6	Mouse	10	400	4000
7	MOUSEPAD	10	50	500
8	LAB STOOL	10	400	4000
9	OFFICE TABLE	01	6000	6000



### **BUDGET ESTIMATE**

No	Material	Qty	Price	Total
1	OFFICE CHAIR	01	4000	4000
2	GUEST CHAIR	02	700	1400
3	INVERTER "Microtek"	01	5000	5000
4	BATTERY "110 AMP"	01	11000	11000
5	WHITE BOARD	01	1200	1200
6	MARKER	01 pocket	200	200

<u>Grand Total - 2,47,000.00</u>





खोले खुद का कंप्यूटर सेंटर मात्र 1.35 लाख में



## PROPOSAL GOAL TIMELINE



### **Meeting**

02 OCTOBER 2023

Decided, give Opportunity To new Entrepreneure for Open own COMPUTER INSTITUTE.



### **Brainstorming**

**05 DECEMBER 2023** 

Brainstorming is a group problem-solving method that involves generating creative ideas and solutions. Some brainstorming techniques include



#### **Production**

12 JANUARY 2024

WE PRODUCT A MARVALOUS
PLAN FOR NEW ENTERPRENEURE



#### **Market Test**

22 JANUARY 2024

WE TESTED OUR PLAN ON JANUARY 22,2024 BY SATYA INFOTECH.